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And the division is only in the value — TS "1 1Yo

OVERVIEW

The X723 explains that when the Xn>72 ruled (concerning w2 D°P17R 0°IW)
that y217m°, it meant *»7%; for the money. There can be two ways to interpret
this X773, The X3 can mean that we do not physically divide the 0w, but
rather we divide the money of the 2vw; meaning that the m> pays (only) half
of the amount to the mn». Our MoOIN rejects this interpretation and offers an
alternate explanation of the phrase %77 21 317,

mdoIn explains the Xna:
— *30wa 23N5v 15 "2INH NN PPN PN

And we do not divide the debt as it is written in the v -
— 8NN Y99 AN 991Y 1Y MIVY 19 NN

But rather the Mm% pays the 7%» half of what is the resale value of the “vw.

mooIN continues to interpret the continuation of the Xna :
— *m1Dar NN WM PP9IN M Y1 23 W 23NN I8N KIN 197 NN XY INT

For if you will not agree to this, but rather maintain that the m> pays half
the loan, concerning a n°>% do we actually divide the nv5v?! This will

destroy the n*>v, but rather we divide its resale value, similarly by 70w we divide its
resale value and not the face value.

moon cites the other explanation and X073, and rejects it:
~NYOYY 1999097 Y *13509) N9

And our texts should not read; ‘not that we divide the “vw in two’, but
rather we divide the money.

mooIn explains why this X073 and interpretation are incorrect:
— 79 95 N0 PN DMWY 19NN’ OX MYV NN MYV Xoan A © )9 oxT

! According to maoin, the X713 never even had a X1°"»X M7 that we divide the 70w in two.

% If the amount the > owes the Tn is a hundred 17, however if the 7%» would want to sell the T0w, he
could receive for it (only) eighty 171, the m? pays the Mm% forty 11; half its resale value.

3 We may want to insist that the term 171> refers to the item, not to its resale value, so therefore by 0w we
should divide its face value and not its resale value; however we see from n°9v that the term 72> can
apply even to the resale value, not to the item itself.

* See “Thinking it over’.

> The X071’ which Mmoo rejects understood that the Xm3 is negating the idea that we actually cut the 70w in
two. Therefore that X0 spelled it out; the X3 reads P72 XX RIVWY 11P0OT K7 M1 190

® The word W2 is written by n"ov and by 7vw. We are proving that 319m by 7w means %72, since it
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For if this is indeed so (that we are negating the concept of cutting the 0w,
and we prove it from n°5v) what proof is there from ns>w, on the contrary,

regarding a n"v there is not such a great loss if it is cut into two pieces -
— DYY3Y MY XY YOWN TINN> ON)

However if they would cut the 2w it would be worthless!’

mooin offers an additional reason why we cannot accept this X07%:
— D2YY T0UN 1PN’ K91 SNIN RVIWT I

And furthermore it is obvious that we do not cut the v into two parts -
— 1205 T0Wa 77193 HNOYMI 13 PYNY 529 5397 RNNY SIYY NIDIPINT

For we have previously established that the dispute of »''2w=y %29 is

concerning anow “wwa 77 -
:DPYII97D NON

Therefore we must rather interpret the X773 as I explained it.

SUMMARY
The X3 negates that we do not divide the face amount, only the resale
value.

THINKING IT OVER
What is the proof from n*ov;'® by n*»v there is no other option, for if we
divide it there is a loss; however by 0w why should we not divide the
amount of the loan?"'

certainly means *n77 by n"?u. However according to this 07" that we are trying to prove that we do not cut
the 7vW into two, then logic dictates that the opposite is true. It is more obvious that we do not cut the 0w
than we do not cut the n>%v. If we cut the vw it is completely worthless; however if we cut the n*ov it still
may retain value. Therefore how is the X3 proving vw from n°%v when it should be the reverse! We
should prove n*2v from "ow!

7 According to mpon however the proof from n*ov is understood. We derive (from n°v) that we divide the
resale value and not the face value. This is more obvious by a n°?v, for there is a greater difference between
the values of a n*%u if we divide it instead of selling it (for dividing it makes it lose most of its value), than
the difference by a 70w whether we divide the face value as opposed to the resale value.

¥ moon is adding that it was always obvious that we do not cut the T in two, even before n*u.

? We cannot be negating that we do not cut up the Tvw. The X3 previously explained that according to *27
the 17 is 1212 only if the qvw is 0™ pn and according to 3"2wn we always say 12m. If, we are to cut up the
maintains that the 719 does not receive his half (if it is not 2"pn) is since the M~ has a 2n of A7n; if the M>
would claim 5> then the 7197 would receive the entire 70w (for the M7 admits that he never wrote it), so
why does 27 maintain that the 7% does not receive half unless it is 2>pn!]

' See footnote # 3 & 4.

" See i mx "2,
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